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1. BEEEOI
(1) BEIRE
AL EERIRA 4,515 4,515 4,515
EAREHERILA 1,832 1,832
FAH £ XA 114,522 114,522 114, 522
FAMSIRASXHEIRE 38,937 A 38,6937
BEXE X IXA 822 822 822
fEEEEEUA 441, 300 441, 300 441, 300
2HE X A 0
8 # &I A 4,000 4,000 4,000
g % IRA 0 0
o] )3 A 398 468 866 1 205 1,072
Z0ih O XA 0
£ X X A 14, 080 14, 080
BEIE & 43, 850 522,175 566, 025 14, 081 2,037| 582,143
(2) BEEHR
= % #
ANHE 34,721 233,843 268, 564 1,254 1,569| 271,388
BhEX & 1,078 0 1,078 0 0 1,078
~EE 2 12 14 1 1 15
wERBE 843 1,221 8, 069 96 96 8,182
WIS B E 97 3,140 3,237 47 1 3,285
iR E 0 4,895 4, 895 0 0 4,895
HFERE 7,992 20, 857 28, 848 1,135 3| 29,987
(B3 0 6, 928 6, 928 0 6, 928
ED R S A& 40 1,535 1,575 0 1,575
MRELE 1,993 1,993 0 1,993
S B 56, 070 56, 070 780 0| 56,850
EER 14 188 802 1,796 1 2,605
RER AL 157 5,250 5, 407 33 29 5, 469
B 465 1,694 2,158 1,803 91 4,053
I — 2} 276 1,548 1,824 0 0 1,824
ZitE 0 168, 100 168, 100 0 0| 168,100
DER NS 7 617 625 1 1 627
=Ei=kn 124 924 1,048 47 47 1,142
I FER 244 9, 400 9, 644 392 12| 10,148
I 0 0 0 0 0 0
XIES R 0 900 900 0 0 900
BREERAE 46, 059 525, 720 571,719 1, 346 1,918 581,043
REIERIBRAE A 2,209 A 3,545 A 5 754 6, 735 119 1,100
1. BENMEROER
(1) BEHNIRE 0 0 0
(2) BEHNER
& E & EREE 0 0 0 0 0
fth=EtiRE%E 3, 349 3, 349 3, 349 0
EAT - ERBE 0 1,100 1,100
= B — fi% IE R B 72 1R RE A 2,209 A 3,545 3,349 A 2,405 2,286 119 A0




